Construction division. Advice for giving credit to contractors/suppliers.

Sl. No site bills	-		-		nt and a second		
register	84			- site bil	ls į	17/8/	22
Company Name:	the state of the s		Regis	MAIL			2
Name of Contractor	Credit le	21/1/1/01	CONTINGO		-	Gu	
Nature of work	N.C	u/shne	ノ				
		Ciril					
Work done	From Date	25	7/1/2	To	Date	1.10	122
Sl. Villa/Flat/block no	. Qty.	Rate	71.110	Unite	Amou	10/8	Contractors
No.	Sold to prompt the same and				T (ALLES OF		bili no
Swipport Ma	1228	-10 2	21-	811	2	027·W	
2. pollplate 10	108	. 2 12	1-	RH		268-W	
3. plats settis	1	-W 22	1-	SIL	1		
4. 012 121	1	[-N] 12	1	RIV	,	80.W	
5. cebid co	M !	7	1		9	40. W	
6	514 83	-W 9		Rfv	87	١٠٠٠	
7.							
8.						/	
9.						<i>.</i>	Section of the sectio
10.							
	otal:				341	186.2	
Bill required	OYES ON	IO.	GST	bill requ	ired	DYES	UNO
Masuranat &	O Required			urement		-R	
cationate sheet:	O Not requi			ince speci		BEnclo	
PO/WO no.				VO date:		□ Not a	or to sec
Remarks: 14.0 (7 / 1	A					
Remis: Lolys (upleti	Tof !		`			
	V					2	
1						And the second second second second	
		CONTRACTOR	- de l'an militaire d	And southern the state of the s			
			and the same of th				
Approved by Project M	anager /	Approved t	y Des	iga Tean	a Ap	proved by	y M.D.
Dete: 17/8/2022	I	Date:			De	ips:	
Sign: ZLL		Signi:			Si	yn:	
		the state of the	-	CO STORY CO	The second name of	New York Control of the Party o	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for outliving labour bills, bit him changes, earth work, terminy civil contractom. 3. Whenever not applicable — fill NA. 4. Estimate and measurement above not required for turnlary jobs where guidaline rubus are obserty given.

						Approved	
ESTIMAT	E SHEET						
Company	Name:	Crecentia Labs Pvt Ltd					
Project:		GV ONE					
Work Des	cription:	Civil work					
	he Contractor	N.Krishna					
Prepared I		SobhanBabu.			 		
Date:		16.08.2023					
Dutc.			Overstitu	Units	Rate	Amount	Item Head Total
S No.	Item Head	Item Description	Quantity 1,228.50	sft	22.00	27,027.00	11011111000 1010
	South side compound wall	inner side 2coats plastering work		Rft	12.00	2,268.00	
	l l	wall patti work	189.00		22.00	3,850.00	
		column's plastering work	175.00	sft		540.00	
		column's patti work	45.00	Rft	12.00		
		Retaining wall cc bed concrete work.	89.00	Rft	9.00	801.00	34,486.00
		Retaining was or our same					
						Total	34,486.00
		Amount:- Thirtyfour Thousand four Hundr	red and eighty six run	ees Only.			
		Amount Thirty Tour Thousand Tour Trans.					

Contractor Contractor Item Head South side compound wall	MEASUREMENT SHEET Company Name: Project:	SHEET	Crecentia Labs Pvt Ltd				Approved	Approved	Approved
actor Item Head th side compound wall	ork Descript		GV ONE Civil work		+				
Item Head South side compound wall	Name of the C		N.Krishna						
Item Head South side compound wall	Prepared By		SobhanBabu.						
Item Head South side compound wall	Date:		16.08.2023						
Item Head South side compound wall					Α	A B		В	в с
South side compound wall inner side 2coats plasterir wall patti work column's plastering work column's patti work Retaining wall cc bed cor	S No.	Item Head	Item Description		Length	Length Width	\vdash	Width	Width Height
1 South side compound wall inner side 2coats plasterin wall patti work column's plastering work column's patti work Retaining wall cc bed cor									
wall patti work column's plastering work column's patti work Retaining wall cc bed cor	1	South side compound wall	inner side 2coats plastering work		189.00	189.00 1.00		1.00	1.00 6.50
column's plastering work column's patti work Retaining wall cc bed cor			wall patti work		189.00	189.00 1.00		1.00	1.00 1.00
column's patti work Retaining wall cc bed cor			column's plastering work		1.75	1.75 1.00		1.00	1.00 5.00
Retaining wall cc bed cor			column's patti work		2.25	2.25 1.00		1.00	1.00 1.00
			Retaining wall cc bed concrete work	rk.	rk. 89.00		89.00	89.00 1.00	89.00 1.00 1.00

.

Allowance of Labour Charges

N.Krishna. Balaji Nagar. Hydrabad.

Date: 16.08.2023

In favor of:

Crecentia Labs Pvt Ltd.

Project / Site: GV ONE

Location: Turkapally Village. **Type of Work:** Civil work.

Towards:

Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done: Towards south side	
	compound wall plastering work.	Rs-13,794/-
	Total Amount = Rs: 34,486 /-	
	Work done from date 27.07.2023 to date 10.08.2023.	

Amount in words:-Thirteen thousand seven hundred and ninty four rupees only

Sign	ı:		

Allowance of Equipment Charges

N.Krishna. Balaji Nagar. Hydrabad.

Date: 16.08.2023

In favor of:

Crecentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Turkapally Village.

Type of Work:

CIVIL work.

Towards:

Allowance for Equipment Charges.

7 11	Amount
Description	
Brief description of work done: Towards south side	Rs- 13,794.00
compound wall plastering work.	KS- 15,794.00
Total Amount = Rs: 34 486 /-	
Work done from date 27.07.2023 to date 10.08.2023.	
	Description Brief description of work done: Towards south side compound wall plastering work. Total Amount = Rs:34,486 /- Work done from date 27.07.2023 to date 10.08.2023.

Amount in words:-Thirteen thousand seven hundred and ninty four rupees only

Allowance for Consumables

N.Krishna. Balaji Nagar. Hydrabad.

Date: 16.08.2023

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally Civil work.

Type of Work:

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards south side	D (007 /
	compound wall plastering work.	Rs: 6,897 /-
	Total Amount = Rs: 34,486 /-	
	Work done from date 27.07.2023 to date 10.08.2023.	

Amount in words-:Six thousand eight hundred and ninty seven Rupees only.

Sign:	
oign.	